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GOALS OF TODAY 'S LECTURE :

- -
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-i . Examples of determining E. c- A .

- z. Expressive power among different classes

Of ECA and TA.



Determine the following EIA:
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Recalling the subset idea :
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Converting ECA to timed automata:
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Converting EPA to NTA:
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Question In this conversion from EPA to T- A :

will a deterministic EPA be converted to a det . TA ?
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- The determinism existing in the EPA gets destroyed by this construction .

Question compare the languages accepted by EPA and def . Tia .
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Expressive Power :
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